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QUITEE F L L6 empBLCrL




B flé aLsena(h)

D: FeoLITemL o &em&F(h)
Topic: Chemistry-Section A

Item No: 42

Question ID: 154771545642

Question Type: | MCQ

Gamoleh pemmuiled sGILIET L -ameu-uiled (LIWeTLIMSS LI L

Question: d : : : ;
vestion -em6D) @mBs Heflermeane Lflas6sheas Lwearu@ b (Wnemm
A TLC mIL_ LD
B: GBS A(DSHSHSGI60 UITaN6) 6l &5 60
C: cuEM S UIL (bl QU Tem6Y 6119 & &6V
D: LILG. & L0ME &6V
Topic: Chemistry-Section A
Item No: 43
Question ID: 154771545643
Question Type: | MCQ

Question: BLh&ser UMMy eTsl BlemeuiL S Se0Temn WM &7
A: |

- O

- D

Topic: Chemistry-Section A

Item No: 44

Question ID: 154771545644

Question Type: | MCQ

Question:

BLserL ailemeruileh 2 _peum@GLD (WS ETemLD eSlememGlLImReT

lr/DH I
0]

NaHCO3




I
A:
= 0
T
B:
I -
o 8]
I
C: /J><\| I/ OH
0
I\/><\ R
D: I
O
Topic: Chemistry-Section A
Item No: 45
Question ID: 154771545645
Question Type: | MCQ

Br CO0OH

I 9

Question:
eTaiTM CLOM&EtOTL IDMTMM&HIE) QaTLiFF s CFrsss
Geuevoriq i element &yesoflserfleor & ifluwimenr euirflema-

A: (1) Mg (i1) CO, 2 60 F&IT (iii) H,0

B: (i) NaOH (ii) C,HsOH (iii) HCI

C: (1) NaCN (ii) H,O (iii) HCI

D: (i) KMnO, (ii) HCI

Topic: Chemistry-Section A

Item No: 46

Question ID: 154771545646

Question Type: | MCQ

Question:

BCW srLILL (HeTem CFILDMIGETI6) eTHS spebremm QDT LILNEdT
LICTTLemer(h (5Mi&Ha ellement eLNeULD Hevey ailemears & adley
swmflés @uain?

CH,CONH,




NH - Me

e
9]
C:
NH,
NH,
- @
Topic: Chemistry-Section A
Item No: 47
Question ID: 154771545647
Question Type: | MCQ

N;CI” N:iBF;

= . A ?
O =
Cu, A

NO,

Question:
(WP SETEemLD 666 LG LIM(H6IT)
eradTm GM&enorL aflemenrulilel X DM MID Y eTedTLIcoT

A X=BF; Y=HNO;

B: X=HBF; Y=NaNO,

C: X=HBF; Y=HNO;

D: X=BF; Y=NaNO,

Topic: Chemistry-Section A

Item No: 48

Question ID: 154771545648

Question Type: | MCQ

BGL0 @ getor(h) FaMMIGET STLILIL (H6TaT.

Fo (DM 1:eMIBEVITEIT 6-60 2_GITAIT 6 MeMMUIL] HTUCTTEeUSHLLLD.

Fa MM II: :6MHEVITEIT 6-60 2_6MET pMemMUIL] 6mnFHEEmT

Question: Glam&HFCarmer-60l60 @@HHal &WTléaslIumE ma.
Gt damigserfleir g uemLuwiley ECW SyUuLl L
cumwiliLserflel @b Frlwmear aflem_enwis
CaIH0S(H&&a)LD.

A: Fo MM T DM MILD Fo D M1 1T &) 7600r(hiLh & if]




oM I WDOHMID oM II G geoor(hid Seu )

C: Famm I &ifl guenrmel swmbm II &eumy)
FaMM I SHeUm SLeTmel S II &ifl

Topic: Chemistry-Section A

Item No: 49

Question ID: 154771545649

Question Type: | MCQ

BCLD @) enor(h) oD MISET STUILL (heTermsnr.

FaMmi I: EemnensCHTo L6 s oEs Eananss
umellerssan(h. @& e nCeumel LIS enfler SemDLIL|L 6T
625 &I6ITEMG M6V QGUIEIE GTVLMT& 6TE0T G\LITEIR TS

ML SHSUILGE M.

Question:
G II: semn@eumey Hifleh semywinmg GLsYLD UL MTEF 6
@&l 15-20% 2_GITensl.
CuMmasetorL g bmisserfleor @ uemLullel EC syl (hlemer
aumiiiyserfley @apba Fflwumer sparemme G5B & () &&a|ID.

A: FaMm I IMHMILD M II @) gesor(hD & if]

B: Fa MM I IDMHMID Fon DM I &) TeooT(HiD &eum)

C: Famm I Fifl 2ermel dammi I &eum

D: FaDM I &6um 2L eTmew FnMmi II Fifl

Topic: Chemistry-Section A

Item No: 50

Question ID: 154771545650

Question Type: | MCQ

NO;™ -M& eI eUEMETWF CFmGEementilsy

Question: 2 (HeUMELD [Fe(H,0)sNOJSO, 2iememoreyd CFIINSEI6L (LU
CUEMEILILD) @ _6iTerm @) (HLDLIl6tT oy sHerdlen@enrmm eTenor.

A: +2

B: +1

C: +3

D: 3

Topic: Chemistry-Section B

Iltem No:

51




Question ID:

154771545651

Question Type:

Numeric Answer

4 @LOM6V M6V NaOH sen p&60leir 2L 755 1.160 g mL™L. etedfley oybHs

Question: SHengaeilesr QumeumllL M.
(Qam(BH&sLILL L g NaOH CLOMEUTH [BleMm 40z mol™)

Topic: Chemistry-Section B

Item No: 52

Question ID: 154771545652

Question Type:

Numeric Answer

MO Glasmememn s wiledr @y1q LuemLuileL BLD&HestTL L6V & Fn M S 6rTl60
Ll ememur 1L eTevorennt |66m & @) Tenor(h) ©l & meooT (hl6iTer

Question: PLO6V &8 M 61T 60T 6TEt0TE00T | 85608
05, 0; N, €585

Topic: Chemistry-Section B

Item No: 53

Question ID: 154771545653

Question Type:

Numeric Answer

31 g e16F 60 60T EemeanrsameD 500 ¢ Hiflel semyssliuB Ems.
erautleL Hs hisenyaeiley bl 2 enmEBlaneus
SMHey K

Question: (eflemL 2(HEI6L 2 6ITET (LN(LD eT6boTEn0T|60)
[Brfledr K = 1.86 K kg mol™]
[C.H. 0 u&mlweummiletr Guomeurmy mlemm 12. 1. 16]
Topic: Chemistry-Section B
Item No: 54
Question ID: 154771545654

Question Type:

Numeric Answer

Question:

50 mL 0.1 M CH;COOH. 0.1 M NaOH EﬁEﬁ}I]'S:glII_EﬁT
STOUMTSESUILHEMS. 10 mL of NaOH GsFésul L LYer
SemnyFedledr pH < 1071, (eflemL =6 2_6iTem DD
ETEBOTE00T | 60)

[Clamh&sLULIL L g pKa (CH3;COOH) = 4.8, log 2 = 0.3]




Topic:

Chemistry-Section B

Item No:

55

Question ID:

154771545655

Question Type:

Numeric Answer

BLD seoorL LOl60TEH 60 &5 60T

Zn(s) | Zn>" (Cp. M) || Zn 27(C, M) | Zn(s) S1600 21 MHM6L MMM (AG)

Question:
C : x : 5 :
5 M@ FLODMS @@HSHEGD CUTE LSSl InE) L IsmL
QuUMmMILD.
Topic: Chemistry-Section B
Item No: 56
Question ID: 154771545656
Question Type: | Numeric Answer
B O i

ererm ellemenruiley

X . 700K -aileh FlemseuemLBal Y IDMMILD Z-26 SHE M.
@) 7eoor(h) 2yemeli(h serflair (LNIg 6 &ET:

Question:
X -60T 2, ribu Glamley / (moll) 6.0 12.0
6T 2 W|ET STeULD /s 1.0 2.0
erentlev. ellemeorulletr eflemenr Geuss ommiledl (QUMBS S0 meuT
20 E60)
Topic: Chemistry-Section B
Item No: 57
Question ID: 154771545657

Question Type:

Numeric Answer

BLD ST PLNEV S En M SH6IT | 2G| HemETs H(HS&H.

Xﬂo_q. BF,_]__-. 13_. SFﬁ PC]’.j

Question:
@ eu v sp’d @ eTsaaLIL WMHMID sp’ @) 6T&H&6VLIL] Gl& mesoTL
PLN 6V & Je. MI 6T 60T eTenaT ettt | &6t & 5@ @lemLwileumenr ell&El 51D
Topic: Chemistry-Section B




Iltem No:

58

Question ID:

154771545658

Question Type:

Numeric Answer

Baseor_eummlel 2s6ar s sangaFedlel mlmwb M min
LI T&ITIH S8 &HE0Tem L0 6 & menor L 2yulent| serflesr
ETEOOTE00T | 55600 &

Question: Ti?", Co?", N2, Cu?", Cu', Tit', Zn?", 831
Q&EMHSHHULLL S 21600 6T600T
Sc.21; T1, 22; Co, 27; N1, 28; Cu, 29; Zn, 30

Topic: Chemistry-Section B

Item No: 59

Question ID: 154771545659

Question Type:

Numeric Answer

CsHyO,. 6T60TID PLNGV & Fon M GUMLILIT(H Gl & menor L (0 mm L
PRV S dn MG el e0(ejemnliLy immmiwib Ll (Hib) @Fmiguih

Question: : p 8 3 : :
2 GUTHHSIL 6T ellemeamemls &SIMS WMHMIL L6V & gn Miserfler
ETEUOTEn0T | & 601 &

Topic: Chemistry-Section B

Item No: 60

Question ID: 154771545660

Question Type:

Numeric Answer

BLh&He0TL Cy Hyg 6TE0TMI PLNEVEHFn M) QUITUILITL 6M1_ 6 & TenoTL
e GrmamyueaTaertliel oyubleuid seubs QUM L mElwiwn
QUIDMRIGRATL 2 L 6T 265 ellemeTeLIMIHemensd &5

G 1Q WIS GIT 6TEB0TE00T| & 61 5.

Question:
Q h % - E\
= L) \ 3 L]
Topic: Mathematics-Section A
Item No: 61
Question ID: 154771545661
Question Type: | MCQ




: B—{5} — E eTedrm &L

Question: f{x}:# ETEOTA QUEMTILMIGSH LIRS DS, @UGUTg
ETEOT LI S5l

A: GRETMIS G & MEITMTEnT WM MID GLD6D &ML
GREOTMNI &6 & TEOTMITENT SFITITL| JLETM6D GLD6D FMITL| 26060

C: GLOGY FTITL] SLE0TTED 6REITMNI &6 SHITETM &I @) 6V 6m 6D

D fELqﬁ’u FITTL] @) 60em6V DM MILD 6p60TMISH Gl & TEOTMITEOT FITITLjLD
@) 6LemeU

Topic: Mathematics-Section A

Item No: 62

Question ID: 154771545662

Question Type: | MCQ
q;1+ﬁ@=2+ii+i=5.mm@mz= i

Z]_ 22 w 2 - ﬁ’}

GTETS . BLD&HE00TL T [D M HFHEMETH H(IHSH 5.

Question: o 2
Sq) 12| =
( 1) | | JI_T
. =
(S5) arg(z)+ arg(w) = tan | 3 ‘
GUGUTLWS
A: both (S;) LOMMILD (S,) @) evor(hiLh &eumy
B: (Sy) DL (HID &if]
C: (S,) DL (HID &if]
D: (S;) WDMMID (S,) @retor(HLD &ifl
Topic: Mathematics-Section A
Item No: 63
Question ID: 154771545663
Question Type: | MCQ




+ty—z=-1
x—=y—3z=2

—x+y+z=p

Question:
eraiTm ST UML () Glsm@GULIME srasoretnrm ey &6
@) BIBSTV., (h+2u, 20 +u) LOMOILD (1, Ap) eTedTM Liemerlaer eublGu
QFELENID G&HITLLQ 60T FLO6OTLIM(H)

A dx—6y=-5

B: 2x —29=23

C: i e e |

D: 4x+6y=35

Topic: Mathematics-Section A

Item No: 64

Question ID: 154771545664

Question Type: | MCQ
A eTaT D =yetnfl &5 B f l{_zi ?j:[é ﬂ

Question: ETEOTM 2 6Tenal. | A | IDMHMID| A2 | eTEOTLIEIT ax? + bx + 3 = 0 eT6dTM
FLOGTUML Q60T ST &6 ereuilev. a + b—ab =

A: —34

B: 50

C: -390

D: 438

Topic: Mathematics-Section A

Item No: 65

Question ID: 154771545665

Question Type: | MCQ

BC, -y -g "=2P, < 0. ETEOTMEUTN 2 6IT6T GTEVGVIT r1-607

Question:
DG 1L serfleir an(bl & ev
A: 40
B: 45
C: 55
D: 56

Topic:

Mathematics-Section A




Item No: 66
Question ID: 154771545666
Question Type: | MCQ

(1+ 202922 + 2x (1 + 200291 + (2007 (1 + 20790 + . + (20?92 erebrD

Question: : 2 i .
Cameneuuiled x!1°! erebriig i @ etorsLD

) 2022

A: Cron

B: 2022 . (2)1011
) 2023 1011

C: Cio11 *(2)
) 2023

D: Cion

Topic: Mathematics-Section A

Item No: 67

Question ID: 154771545667

Question Type: | MCQ

ol = 1 eTad Qumepg 5% 2% 63, 52~ ! eradrLI60T @ Fa (B

sulflema s QamLifley d eredrm QUME NSEUTFS S LG0T ©_6T6IT60T.

Question: S, eTETLIG of e (NS6D 2 MILILm&eD d. Glumg)
allsElunsnrsea)d 2 6rer gl (b suflenss QamLiflar (hsev n
2 Mt &erfledr Fn(h&ev WMMID S3p— S;s = 30k. eT6nilel k=

A: 715

B: 6O5

C: 684

D: 683

Topic: Mathematics-Section A

Item No: 68

Question ID: 154771545668

Question Type: | MCQ

o il n(2n2+3}

Question: L 6T LD L1
A 24 T

B: 2e+1

C: 2e+9

D: 2(e+1)

Topic: Mathematics-Section A

Item No:

69




Question ID: 154771545669
Question Type: | MCQ
sin(eoc+ 3x) +sinx o)
X
2 x=0
f()=
1 1
5 huk
Question: (x+6bx2) —x
3 , x>0
5 3IA
6TETM ML x =0 eredrm Lemerfluiley Q&ML FEFWLIMS 2 6Teng.
(]—k)f[l): ab . 61601160 k =
18
A: -6
B: 15
C: -13
D: 8
Topic: Mathematics-Section A
Item No: 70
Question ID: 154771545670
Question Type: | MCQ
2x ) - ) ) )
Y(x)=tanx— J (x2 —xt+D)sint dr . 6T60T&. x == ereorm Ljemerfluflev 2y — 3"
Question: 0 3
60T LG
A 158
B: 159— 443
C: 126
D: 12743
Topic: Mathematics-Section A
Item No: 71
Question ID: 154771545671
Question Type: | MCQ
(k+)r . : ol .
A, =I e Fsinxde-k=0.1.2....20. 6T60T&. @UIQLITUOG Y |4, | -60T
Question: bt i=0

D&l




T &
A- e +li(1_€_2{].1]
gt — IJ
7T
5 1fe +l](1 2in)
2l e™-1
T ™
C- e +li(1_€_2m)
et -1
7T
T
2le™-1)
Topic: Mathematics-Section A
Item No: 72
Question ID: 154771545672
Question Type: | MCQ
nooon [nz +k2) . ]
Question: lim - 60T LD
*"_’*; (n4 +nk? + kd] =
B,
A: \@
N 2
o
C: 2"5
o 5
' 3
Topic: Mathematics-Section A
Item No: 73
Question ID: 154771545673
Question Type: | MCQ

If y = v(x) eTEOT LIS _:m_‘,u+[xtan( ; ]—y)dx:ﬂ.xﬁﬂ. GT6OT ()

Question: CUEN 5616 W FLETUNE) DD YU =X eeruareubenm
Blemmey QFWUSEIMSE. w+2) eTeTUS6T WG LY :
n
A: 31;6
B: 3
1
C:

[ ]
oy




3n

242
Topic: Mathematics-Section A
Item No: 74
Question ID: 154771545674
Question Type: | MCQ

%J,L;:z_ b >0, y(5) =0 eT6TM EUEM B EHGIH LD
-

FIDEOTUML_ 1 GOT S TEUITEDT GUEMETEU6mT v =1(x) BL60 emL LI(HID

Question: UTLueney 13x. Gewid v = y(x) eT6TU&l y-SFeme P L0MMILn
O eredrm Lyemerflamerfley Qeul_ BIEma. y=1(x) & P OMMILD Q 6V
cuemTWLGILIMID Qs MHCSHM(H&ET T. etedrm Ljamerlulley
FHBSHSHMe0. APTQ 60T LIFLILIGTEY
A: 13.5
B: 13
c: 14.5
D: 15
Topic: Mathematics-Section A
Item No: 75
Question ID: 154771545675
Question Type: | MCQ
2 : a ; : 2 - -
ﬁ_«"’_ﬂ 6TEOTID 21 LIeuememuiLd mmith ﬁﬁ" =1 et6or [HeiT
& 12 25 9
Question: UL LD grElwieummler @GallumiseT FoL erenflsv (ﬂ: iJl_ﬂ) ;
ETEITLIGTEUMEmM (SN WIMISETTS 2 emL W (a. a + 1) er6drm Ljeimerf]
NG GIFGAIID 2 LT QUEMETILSE T emIDWS GG Temels
& &6l
A: 2
B: )
N 3
- iz
D: =
2
Topic: Mathematics-Section A
Item No: 76
Question ID: 154771545676




Question Type:

MCQ

12 = kx IDMMILD xy =—1 6T6OTM GUEMETEUEM & ETI60T QLTSS ST

Question: CHMLIQET FTILIGY % QL &WD. @ UGS k 6T60T LIS @)6060MSH
@ emL_Geuerf]

A (2. 4]

B: (—3.-1)

C: [-4.-3)

D: (1, 3)

Topic: Mathematics-Section A

Item No: 77

Question ID: 154771545677

Question Type: | MCQ

2x—y—2z+3=010MHMID 3x—2y+ 6z + 8 =0 6TEIND SHEMMRISHEHHG

Question: @60 L CUILL|SITEIT (& MIMIGSH 00T E 60T @) (HFLOGIGUL Y ax+ by + ¢z +
3=06T60TMD) SEMIOMEGLD 6Teul60, a+b+c=
=31

B: 28

C: '

15

D: —28

Topic: Mathematics-Section A

Item No: 78

Question ID: 154771545678

Question Type: | MCQ

BLh&saTL SHeuaseatler armaf] hmib BHSGRSM(H &0l
6160160, x3° -60T DB 1LY

Question:
x| 0-10 10-20 20-30 30 —-40 40— 50
F| 3 6 2 x ¥ =20
A: 54
B: 80
C: 100
D: 108
Topic: Mathematics-Section A

Iltem No:

79




Question ID:

154771545679

Question Type:

MCQ

EemL 0L Lsemyulled A etedrm Lyemerflulley mledrmy)
Q& ITEBINY (h&HGLD (5 BLI(HEHS 6R(1H CFMIGHS C&ITL TS 6T
QUL &Emeumer gMmaCasmemTid 45° A & CLMHECS 50 S

Question: Glamemeuallel B eT6dTm HUT BleoTmy Q& mentTy (h& S MY, B-&&
CaEMUTSHIET ghmse Camenrid 30° eranflev. Camy s Elenr 2 Wiy
(Sl iflev)

A: 2542

B: 5042

C: 256

D: \E{il

Topic: Mathematics-Section A

Item No: 80

Question ID: 154771545680

Question Type: | MCQ

Question: LD & & 6007 L6 D M 6T 618 (LN Tevor LIm(h?
(~pP)vg)=~({@=9)

B: (~@=4g)A(~p)

C: (p=qg)Ap

D: (~p)A(~q)

Topic: Mathematics-Section B

Item No: 81

Question ID: 154771545681

Question Type:

Numeric Answer

X2 +3x+2/+x+5—2=0.x €5 eredrn FLO6edTUIML Q60T B yeyaser]eir

Question: . 5
eTEBOTE00T | &6 &

Topic: Mathematics-Section B

Item No: 82

Question ID: 154771545682

Question Type:

Numeric Answer




-5

b
[x2+2+i?; 0T

A

(142 ‘_]40 ereor LI 6or ilifleuns & & &) swaimer 30

Question: (HEOUTH S MG LIGIT eTelTSHEMTH LGS G0 CUTE HlemL @D
@) Te00T LMl 0MMILD Brerasmeu g QUi LT eTenorg et
WENMEW py LDMMILD p; 6TEVTEV, py + p, 6T LOSILILY

Topic: Mathematics-Section B

Item No: 83

Question ID: 154771545683

Question Type:

Numeric Answer

20— 3x7— 12x + b =0 eT60TD &FLOEOTLIML LG [ LN 6ETMI G 6uelGeummenT

Question: QUOLLIG) WIeBET BTa&H6T @) (55 G 2_6T6T b-&H&H 660 (LD(LD 6T600T
eumwiLiL|serfleir eretoramtlsemas

Topic: Mathematics-Section B

Item No: 84

Question ID: 154771545684

Question Type:

Numeric Answer

62(H HMTM MG HLOMUIET BITET(E LIS SHMIH6T &I ETLOMeT 2 GamdH
HTHSTEV GlFWIWLLL(RETETenT. &HS &M M (GO ML (LN&SLIL]
MMID NeTUSSID MBS 2 6TersEl. HbhSE &M @ Lomuiler
S@MI&E Geul 19 60° g 1L1&8 CaHTarUen LW 62@H FileussLd

W HMID y&6or ugriuerey 1.5 2 ey @Lh. uHs Fileus s Sleor

2 WFD x = x5 (6L L1flev) eTemih GUIMEI B (LML

9 (HEUMHGHUSDE eT(H SIS QGTETATLILIL L S8 E 60

LI LILIETEY (& 6mMel s G\ (hH&S M) 16 x,* =

Question:
/ !
i+
r
yd i
|
|
|
n A4
G0 : = (;/
Topic: Mathematics-Section B
Item No: 85
Question ID: 154771545685

Question Type:

Numeric Answer




y=xny =x.x=-1. y=x% ¥’ =x. x=1 6T6OT(D CUEMETEUEMIJ&HETTEV
QML GHHL QUMD x =2y eT6dTM G&HMTLI1 MG GLD6V 2_6Ter

Question:
. K :
LguiLene) . 6Teut |60, n =
Topic: Mathematics-Section B
Iltem No: 86
Question ID: 154771545686

Question Type:

Numeric Answer

A(0,a+2).B(0,a).C(-2.0) DMMILD D (2, 0) €T6OTLIGT [HITEOT(S
L|6Terfl &6, AD WM mith BC er6dtiD CHMHIHET P (x. ). - 6V
Gleul L LIL(RSI6OTMmEDT. P 6T6hT LI S60T @)U eUemiT

Question: ) . i . .
fx. y)=0 euM&eYLD. f(x.y) LOFIETET (4. v) ete0rm LemerfllWilL_ s & GQam
Caim(h §+§=1.mmmm @ MBSV, o (p—7)= :

Topic: Mathematics-Section B

Item No: 87

Question ID: 154771545687

Question Type:

Numeric Answer

yz - 6TE0TN) HEM&HGE VIGTET Ly 6T60TM G&MLIQ60T v LDMMILD z
QL (5161650 (5 &6 @@memi DHmID é (C>0) eTehTes. xz -

6TEOTD H6MS G SVIGTET L, 6T60T(D G&MLIQ60T x DMMILD z

Question:
QU (555 660T([H) &6 ; mmym_% 6TebT&. Ly IDMHMILD Ly S
@enLwleomer s GanmBs sy L. aafley ¢ = .
5
Topic: Mathematics-Section B
Item No: 88
Question ID: 154771545688

Question Type:

Numeric Answer

Question:

OABC 6T6TLIGI 62(1H @)6MetoTaITID. O eTedTLI S SLE i eimerfl. 4 (2, 4,-5)
WMHMID C (b, 2. 3). Y@LWD. P(a. a. a) DDHMID O (9—a”. 3.a—1). a1l
(@) W6 eTenor) eT6bTM L|6Terfl&6T. op-6r W& o -60r eilloey 2
ETETMID. O ETEVEUIT LUIGHEn M) S&F&HSHEETM(HID

& MImICH TSNS 2_(HEUMSHGLDTMILD 2_GTemenr. @) LIGIUmL S,
|r:rB'] +|A("f]

Topic:

Mathematics-Section B




Iltem No:

89

Question ID:

154771545689

Question Type:

Numeric Answer

Bl i s =0 E B i ETEOTLI G X 6T0Tm FoeumuiiiL] wmmlulleor
Question: 2

LITEUEUMEG . @LIGUmwps X-6r UL allevss sgra] .
Topic: Mathematics-Section B
Item No: 90
Question ID: 154771545690

Question Type:

Numeric Answer

Question:

30
@uiaumws — 2.8
T Bes

:
S:JLBE[OEET[]— 23—“

~sin ™! (sinB) + cos ! (cosB) + tan"! (tan @) =

41

} 6TEOTSS.




